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) x2, x <2

Answer #1-3 for the function f(z) = {x L3 s
1. Find lim,_,o- f(x).
(a) 4
(b) 5
(c) 1
(d) the limit does not exist
2. Find lim, o+ f(z).

(a) 4

(b) 5

(c) 1

(d) the limit does not exist
3. Which of the following statements are true.
(a) f(x) is undefined at 2.
(b

(c

(d) all of the above.

(e) (b) and (c).
4. Evaluate lim,_,g
(a) 0
(b) oo
c) —

(
(d) the limit does not exist

f
f(z) is not continuous at 2.
f

(x) is not differentiable at 2.

)
)
)
)

T —3r

5. Evaluate lim,_,_; mlﬁ
)
b)
(c)
(d)

(a
(

[SUI N i O

the limit does not exist



In #6-8, suppose a car’s distance s in miles from its starting point after ¢ hours is given by
s(t) = 4t + t.

6. Find a formula for the average rate of change of distance with respect to time (average
velocity) from time ¢ to time ¢ + h.

7. Find the average rate of change of distance with respect to time (average velocity) as ¢
changes from 0 to 3.

a) 13 miles/hour

(a)

(b) 12 miles/hour

(¢) 1 miles/hour
)

(d) 36 miles/hour

8. Find the instantaneous rate of change of distance with respect to time (instantaneous

velocity) at t = 3.

(a) 37 miles/hour
(b) 8 miles/hour
(c) 13 miles/hour

)

(d) 25 miles/hour



9. Which of the following is a formula for the difference quotient?

f(z+h)—f(x)
(@) “Timn

fz+h)—f(z)
() “wm

() limy,_,o LEHAZS@

. z+h)—f(z
(d) llmh—>0 f(a:(gz_;,_ig )'

Consider the function f(z) = —5 when answering #9-12.

10. Find the simplified form of the difference quotient for the function f(x) = x+r2

—h
(©) e

-1
(d) (z+h+2)(z+2)

11. Which of the following is the derivative of f(z) = —5.

—1
(2) Grrae

DR —

: —h
(C) hmhﬁom
. -1
(d) lime 0 Grrra) e
. -1
(&) im0 Gramayery

12. What do your answers to #10 and #11 represent?

a

(
(b

) average rates of change.

) instantaneous rates of change.

(c) the slopes secant lines and tangent lines respectively.
)

(d) the slopes of tangent lines and secant lines respectively.



Consider the function f(z), which is graphed below, when answering #13 - 14.

A

(x)

13. Which of the following statements is true about the function at point B?

a) f is positive f’ is positive.

(a) f

(b) f is positive f’ is negative.
(c) f is negative f’is positive.
(d) f is negative f’ is negative.
)

(e) None of the above statements are true.

14. Which of the following has the largest value?

!

a x) at point A

!

x) at point B

(

(b
(c
(d) f'(x) at point E
/

) f'(x)
) ['(x)
) f'(z) at point D
) f'(z)
) ['(x)

(e

x) at point F



15. Which of the following functions are differentiable at x = 37

(3,2)

(0,1)

P El 1 i B ] [] § t El 1 z ]

o f(z) =[z| +1 (z)g(z):%_rwhenr#3

{3, ﬁ..a)

1

q 0 ) B 3 ] 5 /‘_,r [

@h(z) = —|z — 3| +2.5

, 1.
@j(x) = 35°

(a) g(x) and j(z)

(b) f(z) and j(x)

(¢) f(z), h(z), and j(x)
)

(d) all of these functions are differentiable at x = 3.

9
f
f



16. Which of the following the graphs matches the description of the function f?
f'(z) >0 for x € (—00,2) U (5,9) and f'(z) <0 for z € (2,5) U (9,00).
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17. Find the derivative of the function h(x) = (2% — 7x)".

18. Compute the slope of the tangent line to g(z) =

19. Let y = (z + 1)(2* + 3z — 2). Find %.
) (22 +3x —2)+ 2z +3)(z + 1)
) (x+1)(22+32—2)+ 2z + 3)(z + 1)
(c) 2z +3)(z+1)— (22 + 3z — 2
) (

)
r+1)(2x — 2) + (2?4 3z — 2)

Jz

x241

at x = 1.



